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bl YU b ol U
BUA 187.300 159.600
FGA 167.200 136.600
BuC 169.800 159.100
DsC 167.600 144.300
DGE 171.000 145.800
FGE 169.900 124.800

AB 83l Job 27.70m

AF 33! Job 30.60m

CB ! Job 10.70m

CD i1 Jgb 23.30m

ED il Job 25.20m

EF 3 Job 45.10m

AB = k(tB —tP) = AB=100(187.300—-159.600) = AB =100(27.7) = 2770cm
AB=2770/100= AB =27.70m

AF = k(z‘B —tP) = AF =100(167.200-136.600) = AF =100(30.6) = 3060cm
AF =3060/100= AF =30.60m

CB= k(tB —tP) = CB=100(169.800-159.100) = CB =100(10.7) =1070cm
CB=1070/100= CB =10.70m

CD = k(tB —t,)=>CD= 100(167.600—-144.300) = CD =100(23.3) = 2330cm
CD =2330/100= CD =23.30m

ED = k(tB —tP) = ED =100(171.000-145.800) = ED =100(25.2) = 2520cm
ED =2520/100= ED =25.20m

EF = k(tB —tP) = EF =100(169.900-124.800) = EF =100(45.1) =4510cm
EF =4510/100= EF =45.10m
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- (bl Jload olael > 4l ) Gloji
GAB 144°
Gpe 202°
GCD 79°
GDE 86°
GEF 9°
GFA 108°
bl ‘;\"\.: L)
A B a; 216°
B (&b 4 122°
C 2 ayl; 117°
D Jsls 445 173°
E LD 4y; 81°
F sl a); 79°

GBC=GAB—Bi180 :GBC=(144 -122)£180 :GBC=22 +180

= GBC =202

GDE=GCD—Di‘180 :GDE=(79 —173)£180 :GDE=—94 +180

o

:GDE =86

GFAzGEF—EiISO :>GFA=(9 —81 )%180 :>GFA:—72 +180

= GFA =108
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Ax = LAB sin GAB = Ax=138.5%xsin144 = Ax =138.5%0.91 = Ax =126.035m.m
Ax=12.60cm

Ax = LBC SiIlGBC = Ax =53.3%s1n202 = Ax =53.3%(-0.37) = Ax =—19.721m.m
Ax=-1.97cm

Ax:LCD SinGCD = Ax=116.5%sin79 = Ax=116.5%X098 = Ax=114.17mm
Ax=1141cm

Ax = LDE SinGDE = Ax=126Xsin86 = Ax =126%X0.99 = Ax =124.74m.m
Ax=1247Tcm

Ax = LEF sin GEF = Ax=225.5%s1in9 = Ax =225.5%0.15 = Ax =33.825m.m
Ax =3.38cm

Ax = LFA SinGFA = Ax=153X%sin108 = Ax =153%x0.95 = Ax =145.35m.m
Ax=14.53cm

Ay = cosG :>Ay 138.5xcos144 = Ay =138.5x—0.80 = Ay =—110.8mm
Ay=—11.08cm

Ay = LBC cos GBC = Ay =53.3xc0s202 = Ay =53.3x-0.92 = Ay =—49.03mm
Ay =—4.903cm

Ay = cosG :>Ay 116.5%c0s79 = Ay =116.5x0.19 = Ay =22.135mm
Ay—2.21cm

Ay = EcosG = Ay =126Xc0s86 = Ay =126x0.06 = Ay =7.56mm
Ay =0.75¢m

Ay = L COSG = Ay =225.5%c0s9 = Ay =225.5%0.98 = Ay =220.99mm
Ay = 22.09cm

Ay = LFA cos GFA = Ay =153%c0s108 = Ay =153x-0.30 = Ay =—-45.9mm
Ay =—-4.59¢m

ZM: A'XAB +AXBC +A'XCD +AXDE +A'XEF +AXFA
= ZAxZ 12.60—-1.97+11.41+12.47+3.38+14.53 = Zsz 52.42




ZAy:AyAB +Ay3c +AyCD +AyDE +AyEF +AyFA
= ZAyz—11.08—4.90+2.21+O.75+22.09—4.59 = ZAy=4.48

Z Ay+z A= 448+52.42=56.9
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za=(2n—4)><900 :Za=(2x6—4)x90° :Za:(S)x90° :Za=720°

ol Joe NS slas 11 =

D Uy 0 = Y =21641224+117 4173481479
o o

>, =788
bl Bl agl; o =
s i = GBI slloj gsamme — ool 1Sy 5ylukil 4y
bs olie = 788-720
s e =
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68" +6=11.33"
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bl 200 200
(m) (m.m) (cm)
AB 27.70 138.5 13.85
BC 10.70 53.5 5.35
CD 23.30 116.5 11.65
DE 25.20 126.5 12.60
EF 45.10 225.5 22.55
FA 30.60 153 15.30




